Der Luftdruck ist abhangig von der Héhe

Luftdruck Luftdruck Luftdruck

Hohe | (Vergleich zu Normaldruck Hohe | (Vergleich zu Normaldruck Hohe | (Vergleich zu Normaldruck
Normaldruck) Normaldruck) Normaldruck)

0, 0,
45m | i 800 m 902% 9144hPa | 5000 m 526% 5333hPa
(Totes Meer) 900 m 891%| 9027hPa | 5400m 50%| 506.6 hPa
-300m|  1039% 1053,0hPa | 4500 m 88.0% 8912hPal | 6000m 463%  469.0 hPa
-200m|  1026% 1039.6hPal | 1500 m 825% 8358hPa | 7000 m 407%  4125hPa
-100m|  101.3%| 1026,3hPa| | 900 m 774%| 7838hPal | 8000 m 358% 3628 hPa

G 0% 0SSR | @atn 75%  7599hPa | 8848m :

100 m| I 3hPa [o500m|  725%| 7351hPa| MEver
200 m| 975%| 987.6hPa | 2962 m 10 km 27.7% 2807 hPa
| _ 68.4% 692.80 hPa
300 m 96.2%  975.0 hPa |Zugspitze 17.9 km 10% 1013 hPa
400 m 95.0% 962.5hPa | 3000m 63.0% 6894 hPa 20 km 77%|  77.8hPa
500 m! 93.8%| 9503 hPal | 3500m 63.8% 6465hPa | 359 km 1% 10.1 hPa
600 m{ 926% 9381hPa |4000m 59.8% 6063 hPa 50 km 0.16% 165 Pa
Om. 49 2hP 0 00027% :
700 m 91.4% 9262 hPa ::L(l)m el 100 km| 0,00027% 027 Pa
.Dlanc




